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I. Uqprutrptrhp

09132100 trhtrqfrtr qphrifrnril

09t34220 'Ifrqhlur3 
|rtr tlurnhilrp

(EN 5e0)
09211 I 000 €uur3nr{hp h puruh3nr_pbp

092t 1 1 400 Q nlurutr grirutr urnulrfr



092rr640 Spurtru$nptlururnph J nr-rl trCUZ tlr*p 1 .5 90.0 60

1 5800000 Utrb4ru,Iphpp trcuz hurtn 950.0 9s0.0 1

1 83 1 8200 fuur1up punipurfuru trCUZ hunn 9.0 9.0 1

r 8424000 Qhntrng nhurlrhlrg trcuz qNLJq 0.3 10 .8 36

I 8424000 thnhng \*rphg trCUZ qNLJq 0.3 21,6 72

r8424000 thnhng uln$kfohthtr,
pruqruhrahg

trcuz qNLJq 0.3 3.0 100

22000000 S,q*qhp hlnrphp trcu2 hurur 200.0 1 00.0 I

22810000 Qpuruhht ur\ru: Itt, qltpp PCUZ hurur 1 . 0 5 .0 5

22810000 Qpuruhtr: ur\u: hl, qhpp FCUZ hrutn 2.0 4.0 2

228 1 6300 rtu12nrtr phpphUrhp
hznr-tihhnh huniurn

trcu2 hunn 0.4 4.0 1 0

22820000 ttrurprlphp trcuz hutn 0.01 2.0 200

24300000 €frilfrru\urh h1nr-pbp trCUZ hunn 334.50 334.50 1

24111 100 Upqnh qurq trcuz il3 10.0 60,0 6

24II 1300 Zhfirnr-il qruq trCUZ rl3 28.34 8s.02 3

24111600 9purbfrh qruq trCUZ il3 7.0 42.0 6

24tt I 700 Uqnur qurq trcuz d3 0.5 12.0 24

24tr 1800 Uqnrn hhrlnr\ trcuz t]t*p 0.42 I  13 .4 270

241tl900 foprlrubttl, q*q trcu2 il3 0.42 10.08 24

24112 1 00 Ubfuurppnl qruq trcuz d3 0.34 2.04 6

24313125 bp\*fofr unr-1,Sunn trCUZ \q T , 7 8.5 5

243t 1500 rr rufrnr-.ih hhlnop uhrl trcuz \q 1 . 8 1 , 8 I

243115 10 Sfrtnurtrlr bn\opuh+ trcuz \q 100.0 50.0 0 .5

24313220 Lururplrnr-tilr
qhpn$nu$urur

trcuz \e 2.0 30.0 1 5

243r4100 Irruflrnrd]r

qhpriruhqurhruur
trcu2 \q 3.9 3.9 I

24314100 9rufrnr-ti
hphppnrirupprlru1|rh

trCUZ \q 3 . 1 3 . 1 1

2243 I 5300 9pubhlr ulhpopufrrl trCUZ ilr*n 1 . 5 30.0

2432t221 trhtrqnl trcu2 tJt*p 4,0 4.0 I

24321100 Zhqunutr trcuz tlr*p 3.0 3 .0 I



24321 120 3|r\lnhhpuurl: trcuz th*p 3.0 3.0 I

243225r0 hphL urfinhnl trcuz tlr*p 1 . 5 3.0 2

24323200 U*ilrghlrufdfdnl trCUZ ttq 6.0 30.0 5

24324300 Zh+p-qt t, hh+punn trcuz tlt*p 12.g 6 .0 0.5

24324300 Or-pnrnpnulhb trCUZ ttq 1 . 9 1 . 9 I

24324300 Ufrqutrlnr-fd trCUZ ttq t . 4 2r ,0 1 5

24326000 a-r1filhpfr1
unilrtrnp htrq ur1 +h h h+

trcuz ttq 30.0 3.0 0 . 1

24326000 Ughunl: trcuz rh*p 1 . 2 21.6 1B

24326320 'IhhfuhL hphn trCUZ ilt*n 5 .2 5.2 I

24327000 Oulur pnr-b{nr1 trCUZ hq 29.0 29.0 1

24327000 tturppopulrpihpfrl-

ghllnr-lnqru
trCUZ hq 1 . 5 7 .5 5

24910000 Unufrhd, fdrtfdh trcuz hruur 0.25 25.0 1 0

30125100 €upurplr2 rnntrhpurl |rtr trcuz hurur 20.75 1 1 1 . 0 8

30192r2r aplr2hhp urtuFFhp qnr-3trlr trCUZ hurur 0.08 5.6 70

30r9212r qphf Uni Pin Blackj Blue trcuz hruur 0.75 3.0 4

30192125 Uup\hp qnr-hru.lrp trcu2 htutn 1 . 1 5 ,5 5

30192130 Uurtnlrurt hp trCUZ hurn 0.09 2.25 25

30192700 Anfrkpfrlhtnul|rtr
pruqurhphg $urtt

trCUZ urnr-rlr 1 . 0 40.0 40

301972t0 I}{p*rltutnu\ trCUZ huur 0,75 22,5 30

30197232 Iartp*rlurtrur\ hr2*
\ruqilnrl

trcuz hurur 1 . 0 t2.0 T2

3019763r fdnr-r1p 44 Snptlururfr trcuz urnlrf ,
500

hunn

2.0 162.0 B1

30 l 9763 I fdnulp qnr-hunlnp ,{4

Snpriuurfr
trcuz urntrlr,

500
hurn

2.5 12.5 5

30 1 99500 Olfo*otuhru\

prurfnutrghtl
trCUZ hurtn 0.65 6.5 1 0

30199s00 Ortfo*rlurhru\ S*:L trCUZ hruur 1 . 3 3.9 3

301971 I  1 q*ph:h ruuhrlhhn Snpn trcu2 hurur 0 . 1 0 .8 8

30197 rtz .{*fth).h uuhrlhbp .ilrtht, trcuz hruur 0.  15 1 . 5 1 0



30197320 tt up fr2/uur b q thp/ trp n trcuz hruur 0.9s 3.8 4

30197320 tt upfr2/utn h q th p/ rifr2 frb trCUZ hruur 1 . 8 9.0 5

30 I 99230 Opruphhp A.4 $nprftuurlr trCUZ hrurn 0.06 1 . 2 20

30 I 99230 Opurphhp ,A.5 $nprfurtnlr trQUZ hrurl 0 . 1 1 . 5 1 5

302 1 3300 Zurdrl\urFqh: uhrpuhlr trcuz hurtn 2 10 .0 420.0 2

302 I 3300 Zunftu\urFqh: ubrputrlr trcu2 hurur 145.0 145.0 1

302 I 3300 Zurtiru\urpqh: uhrlutrlr trQUZ hurur 198.132 198.132 I

30230000 Zutiur\rupq2ru3|rtr

qurhhuurtutituuhp

trCUZ huur 73.0 73.0 I

30232 1 00 So#/qpfrtrurhp/
pruqdru$nth c|rntrur1

trCUZ hurn 1 1 s . 0 r 15.0 I

30234600 5 Lh Z hfr2 nrlnrp3 nr-l.r trcuz hruur s.0 30.0 6

30234600 SLbZ hfr2nrlnr-p1nr-tr DDR
lGb

trcu2 hrurn 15 .0 60.0 4

30237000 2uniur\urFqh:h
$nurnpilFnL\

trcu2 hrutn 2.5 20.0 B

30237280 Zruriru\tuFqhfh
h1h \tnp ru\ tutr uhnr-g rftutr
uruFP

trCUZ htuur 20.0 60.0 3

30237280 Zunlur\urpqhrl
h1h\uptu\urtr utrnr-gtiurb
uruFp

trCUZ hruur 10.0 30.0 3

30237280 Zuriur\rufrqhfr
h1h \ tnp ru \rutr utrnrg ilurtr
gtuFp

trcuz htutn 7.0 28.0 4

30237 410 Zrutiur\urFq:urJ hh dqbhq trCUZ hurtn 2,5 10.0 4

302372s0 Zutlur \upqhfh rlurp prituh
hhrlnr-\

trQUZ hurur 2.8 5 .6 2

3 I 200000 h1h\urpru\urhnr-p3 urh
pur2|utirutr b r{hpurhu\tftutr

lurFpru{npnr-tit hp

trcu2 hrurn 20.5 266.50 1 3

3 I 320000 h1h\urpurthhpqh*:h

l*zl".ftuh riupr-futrhp
trCUZ rlhurp 0.3 75,0

--250

31s10000 h th \urpru \ruh 2 |r\u g Lftuh

Luniu{hp

trCUZ huur 0.35 t7  . 5 50

3 1 s20000 Lunlqhp h lnr-uur{npnr1
qurFphF

trcuz huu 1.82s 36.5 20

31681000 Unr-$h purl frh r{urnrup urh trCUZ htutn 250.0 3s0.0 I



32552130 Zhnurfunu trcu2 hruur 32,4 32.4 1

33t4r1t7 trturipru\ trcuz t*fohp 0.3 31 .5 105

33141 3 I 0 Lhpurp\fr2 trCUZ hruur 0.2 1 .0 5

33696550 Lrupnpuulnp odurbrlur \
trSnr-php

trCUZ hunn 0.3 6 .0 20

33793000 LurpnprunnF urqurfuur
ulFurlu4prutrp

trcuz hruur 1 . 5 15 .0 1 0

343 I 2000 3nu1fr quth:fuh.l*/ trcuz hrutn 1 .0 2.0 2

343 1 2000 O+h qurlr2/Lhrl*/ trCUZ hruur 1 .0 8.0 B

343 1 2000 @r\ trcu2 hrurn 1 .0 1 . 0 1

343 1 2000 Unurhgput\tul trQUZ hurur 2.0 4,0 2

343s I 1 00 U{urntlhp hh ur3 fr urtrfn{h h p trCUZ huur 2 .5 10.0 4

384 1 6000 pH :urhh: forl,":hl: trcuz hrurn 30.0 30.0 I

39132100 Qpruqurhurpruh trcu2 hurtn 120.0 120.0 1

39134100 Zunfur\urFqhfh uhrlurl: trcu2 hurur 30.0 90.0 3

39220000 Shurhuur\*l, ruqpurtrphhp trCUZ hutn 3s.0 35.0 I

39224t00 u.lhr trCUZ htuu 0.8 3 0 4 38

39224340 Urlprudub trcu2 hruur 1 . 4 t . 4 I

39292500 €urtrnl: trcuz hruur 0.2 0.8 4

398 1 3000 Uruppnrl dubn.ll t, t"Zh trcuz huur 0.28 3.36 12

3983 I 000 Odrun d.hnpfr trcuz hutn 0.25 r 0.0 40

39832 1 00 L.l*sph t"zh trcuz hurur 0.5 19 .0 38

42r22t30 Aph ulnliul trcuz hruur 10.0 10.0 I

42t31000 9plt bnpur\ trcuz hurur 3.0 24.0 8

44 1 00000 C frhurpurpru\urh tr3 nrphp

lhp*ghh rlhft*bnpnqriuh
ru2fu urtnutrphhpfr hudrup

trCUZ rlFruil 680.0 300.0 I

44t15220 I hnnr-gtfurtr hrurfru\upqh
tlhpurhnpnqtiurh
qruhhuurunluruhp

trcu2 rlpturi s07.03 507.03 1

44500000 Uurtr t \ rupuhur $tnul frtr
hru{upurbnr-

trcuz huu 9.0 9 .0 2

44s00000 tunrlnr{ruhh f*t urltt 1 trcu2 hurur 2.5 2 .5 1



44500000 tunrlntlruhh p*lrur$ 2 trcuz hruur 5.0 5.0 I

44500000 tunr1n{ur\h f*trruilt 3 trcuz hruur 6.0 6.0 1

44500000 Uhurrurllr ntt"g hhtrhn trcuz hurur 0 . r3 3 . t 2 24

44500000 Currpurlrlrhp urrupp hp

:uthph
trcuz hurur 0.5 10.0 20

44s00000 qduh\*rlrp purtluflrtthph
hrur{ruprlbnr-

trcuz hurur 12.5 12.5 I

44522300 ttnrlq hptrhplt riuruhp trcuz hurur 2.67 21.36 B

Clrrlturlhhp' 6750.292

II. UZluurururhphhn

45232141 I hnnr-gtfurtr \urpuurtrhpfr h
tlupur\ngtrhplr
rnhrpu4pilrutr
ur2luurr{rutrptrhp

trCI.I2 rlFuril 940.0 940,0 I

4s453000 CLpur gfrh rlhfr*hnpnqriurh
ur2luqurrutrphhp

trcu2 r1purd s00.0 17 4 .0 I

Ctrrlurdhhp' I I14.0

I I I. Ournurl nlfdJ nr-hhhp

s0320000 Utrd.hurh*1,
hurtftu\urFqh:bhph
qurhqrutnlurh h
rlhpurhnpnqriurh
burnurJnr-plnrhtrhp

trcu2 rlFurri 141  . 0 141  .0 1

5041 1000 $gnr-nphughtruruJhb
uq h \ rn p ru Snrnnri h ur p |r
tlhpurhnpnqtiurtr
burnurJnrp3nrtr

trcuz rlFurli 135.0 1 35.0 1

50s32400 hth\upruutrnr-grftul:
urpurtruSnprlurtnnpb
r{hpurhnpnqilrutr h
qurhqurhrftuh
brunurJnr-p3nr-h

trcuz rlFuni 163.0 163.0 1

50750000 '{hphpu\fr

rlhpurhnpnqtlurh b
qurhqrutriltuh
burnurJnrpJnrh

trQU2 rlFruil 830.0 830.0
-i--

5 u 10000 hth\urprup|nffrurh*1,
uurFprurlnprlurh
hqnpnr-pl urh tlhburgilrutr
burnur3ntplnr-tr

trCUZ rlpruri 228.0 228.0 1



64 1 00000 (Dnuururlftb U
un r-p h urtrrl ur \ ur1 frtr
burnrulnr-plnr-lr

trcu2 +Funi 5 .0 5 .0 I

641 10000 @nuurur3 frtr urnurpnrd trCUZ lpur\i 49.3 49.3 I

642t1000 Zurhpurl frl-r hhnur |unuurS frl:
br:rnrulnr-plnrtr

trCUZ 11pturi r 200.0 r 200.0 I

64216000 h1h\upntrurlfrtr
h rurlnp 4ur qFnlfd3 nr-hh h p |r
h ur hrlh \ururrlnr-p3 ruh
btunrul nr-p1 nr-h /htrurhptrh ur

U*,rtl

trcuz +Ftuil 314.0 314.0 I

65111000 turlhlnr ZFh Fu2|uriurh
burnrulnr-p1nrb

trCUZ rlFturi 350.0 350.0 I

65200000 a*qh pru2futitub tr 4pru
hhur \ruqrlrub
burnrulnrplnrtrhhp

trcuz rlFturi 1977 .0 1977 .0 I

6s300000 h th \urpru\urhnr-p1 urh
pur2|utfutr h rlpur hhur

\urqtlrub
brunrulnrplnr-trhhp

trCUZ +FtuLi 7800.0 7800.0 I

661 10000 trurh\ur3 |rh uqururup\riurt:
brunurlnrplnr-hhhp

trcuz rlFruli 15.0 15.0 I

66516100 U{rnntihphtrul}r
urqurhntlurqptirul:
bunu3nr-plnr-h

trCUZ +Funi 23.0 23.0 I

7 1631 200 U{tnnilhphhrul}r
u h futrfr\ u\utr uunr-qriruh
brunurlnrplnrtr

trcuz rlfruni 10.5 10.5 I

79970000 Zputnuptu\rftuh
burnurlnr-p1nr-tr

trcuz +prurI s0.0 50.0 I

79980000 trurduhnprItuqFriurtr
burnurlnrpSnrh
(uuluurqphp)

trCUZ hruur 18 .0 72.0 4

905 1 1 200 UrlpurhurhnrpSurh
burnulnr-pqnr-h

trcuz rlFuni 370.0 370.0 I

85 1 44000 trd2\ru\utr hhuruqnrnnlp

Jrub brunrulnr-p1nr-tr
trCUZ rlFtuLi 100.0 100.0 I

90923000 Zhqbhhf'U h
huniudurpur\urlfrtr
bunurlnr-p1nr-h

trcuz rlFuni 180.0 180.0 1
t

98000000 Lhp\u3urgnlg:ur\ul:
brufuuhp

trcuz +Fruri 80.0 80.0 1
I

791r 1 000 hpru{rupuhru\rutr

lornhp+uuulnrplurb

trcuz rlFunl 1s0.0 150.0 I



burnurlnr-p1nrh
99600000 Qtrnr-rf 2hruhrlfruu gnrl

bru fu u b p/qnp bnr-rpiruh
burfuuhp/

q?o rlFruil 785.0 785.0 1

Ch4turihbp' 15027.80

Urfpnrl2p' /tuulpurtrptrhp, u2luurururhphhp, bunrulnlfdJnr-htrhp/ 22892.092

Qtrnrtlhhnn hurtiru\urFqnrl tPri,1' U. Uurhrfrrutr3urtr


